# ON SOME GENERALIZATION OF INEQUALITIES OF OPIAL, YANG AND SHUM 

BY<br>CHENG-SHYONG LEE

1. Introduction. In 1960, Z. Opial [20] proved the following interesting integral inequality:

Theorem A. If $u$ is a continuously differentiable function on $[0, b]$, and if $u(0)=u(b)=0$, and $u(x)>0$ for $x \in(0, b)$, then

$$
\begin{equation*}
\int_{0}^{b}\left|u(x) u^{\prime}(x)\right| d x \leq \frac{b}{4} \int_{0}^{b}\left[u^{\prime}(x)\right]^{2} d x \tag{1}
\end{equation*}
$$

where the constant $b / 4$ is the best possible.
Equality holds in (1) if and only if

$$
u(x)=c x, \text { for } 0 \leq x \leq \frac{b}{2}
$$

and

$$
u(x)=c(b-x), \quad \text { for } \quad \frac{b}{2} \leq x \leq b
$$

where $c$ is a constant.
At the same time, C. Olech [19] showed that (1) is valid for any function $u(x)$ which is absolutely continuous on $[0, b]$, and satisfies the boundary conditions $u(0)=u(b)=0$.
C. Olech also pointed out that in order to prove (1) is suffices to prove the following:

Theorem B If $u$ is an absolutely continuous function on $[0, b]$, and if $u(0)=0$, then

$$
\begin{equation*}
\int_{0}^{b}|u(x)|\left|u^{\prime}(x)\right| d x \leq \frac{b}{2} \int_{0}^{b}\left[u^{\prime}(x)\right]^{2} d x \tag{2}
\end{equation*}
$$

where $b / 2$ is the best possible constant.

Received by the editors January 16, 1978 and, in revised form, January 19, 1979.

In 1962, P. R. Beesack, [3], gave a different proof of Opial's inequality, and showed that (2) is contained in the following:

Theorem C If $u$ is an absolutely continuous function on $[0, b]$, and if $u(0)=0$, then

$$
\begin{align*}
\int_{0}^{b}|u(x)|\left|u^{\prime}(x)\right| d x+ & \frac{b}{2} \int_{0}^{b} \frac{1}{x^{2}}\left\{2 \int_{0}^{x}|u(t)|\left|u^{\prime}(t)\right| d t-[u(x)]^{2}\right\} d x \\
& \leq \frac{b}{2} \int_{0}^{b}\left[u^{\prime}(x)\right]^{2} d x \tag{3}
\end{align*}
$$

Equality in (3) holds if and only if $u(x)=c x, c$ being a constant. Since

$$
g_{1}(x)=2 \int_{0}^{x}|u(t)|\left|u^{\prime}(t)\right| d t-[u(x)]^{2} \geq 0
$$

(3) gave an improvement of (2).

In 1966, G. S. Yang, [27], proved the following theorems which are the generalization of Z. Opial's inequality and some extensions of P. R. Beesack's:

Theorem D-1 ([27]; Theorem 3). Let $l(x)$ be positive on $a \leq x \leq X$ with $\int_{a}^{x} l^{-1}(x) d x<\infty$, and let $s(x)$ be bounded, positive and non-increasing on $a \leq x \leq$ $X$; $u(x)$ be any function which is absolutely continuous on $a \leq x \leq X$ with $u(a)=0$. Then

$$
\begin{equation*}
2 \int_{a}^{x} s(x)|u(x)|\left|u^{\prime}(x)\right| d x \leq \int_{a}^{x} l^{-1}(x) d x \int_{a}^{x} l(x) s(x) u^{\prime}(x)^{2} d x . \tag{4}
\end{equation*}
$$

There is equality only if $s=$ constant, $u=A \int_{a}^{x} l^{-1}(t) d t$, A being a constant.
Theorem D-2 ([27]; Theorem 3'). Let $l(x)$ be positive on $X \leq x \leq b$ with $\int_{x}^{b} l^{-1}(x) d x<\infty$, and let $s(x)$ be bounded, positive and non-decreasing on $X \leq$ $x \leq b ; u(x)$ be any function which is absolutely continuous on $X \leq x \leq b$ with $u(b)=0$. Then

$$
\begin{equation*}
2 \int_{X}^{b} s(x)|u(x)|\left|u^{\prime}(x)\right| d x \leq \int_{X}^{b} l^{-1}(x) d x \int_{X}^{b} l(x) s(x) u^{\prime}(x)^{2} d x \tag{5}
\end{equation*}
$$

Equality in (5) holds only if $s=$ constant, $u=B \int_{x}^{b} l^{-1}(t) d t$ with constant $B$.
Theorem E ([27]; Theorem 6). If $u(x)$ is absolutely continuous on $a \leq x \leq b$ with $u(a)=u(b)=0$, then

$$
\begin{equation*}
\int_{a}^{b}|u|^{p}\left|u^{\prime}\right|^{a} d x \leq \frac{q}{p+q}\left(\frac{b-a}{2}\right)^{p} \int_{a}^{b}\left|u^{\prime}\right|^{p+a} d x, \quad p, q \geq 1 \tag{6}
\end{equation*}
$$

In a recent paper [24], D. T. Shum gave a generalization of Theorem C as
following:
Theorem F ([24]; Theorem 4). Let u be an absolutely continuous function on [ $a, b]$, and $u(a)=0$. If $p>0$, and $\int_{a}^{b}\left|u^{\prime}\right|^{p+1} d x<\infty$, then

$$
\begin{equation*}
\int_{a}^{b}|u|^{p}\left|u^{\prime}\right| d x+\frac{p(b-a)^{p}}{p+1} \int_{a}^{b} \frac{g_{2}(x)}{(x-a)^{p+1}} d x \leq \frac{(b-a)^{p}}{p+1} \int_{a}^{b}\left|u^{\prime}\right|^{p+1} d x \tag{7}
\end{equation*}
$$

where

$$
g_{2}(x)=(p+1) \int_{a}^{x}|u|^{p}\left|u^{\prime}\right| d t-|u(x)|^{p+1}(\geq 0)(a \leq x \leq b) .
$$

If either $p<-1$ and both $\int_{a}^{b}|u|^{p}\left|u^{\prime}\right| d x<\infty$ and $\int_{a}^{b}\left|u^{\prime}\right|^{p+1} d x<\infty ;$ or $-1<p<0$ and $\int_{a}^{b}|u|^{p}\left|u^{\prime}\right| d x<\infty$, the reverse inequality holds.

For $p>0$, equality holds in (7) if and only if $u(x)=c(x-a)$, for some constant $c$; for $p<-1$, equality never holds; for $-1<p<0$, equality holds if and only if $u(x)=c(x-a)$, for some constant $c \neq 0$.

The method of the proof of (7) (Theorem F) was first used by Benson [6], and was modified by Shum [23; 24].
D. T. Shum [24] also stated that the inequality (7) with $p>0$, can further be generalized as following:

Theorem $G$ ([24]; (15)). With the conditions of Theorem F (7), if $s$ is positive and non-increasing on $(a, b)$ with $-\infty<a<b<\infty$ and $\int_{a}^{x} s\left|u^{\prime}\right|^{p+1} d t<\infty$, then

$$
\begin{align*}
\frac{(p+1)}{(b-a)^{p}} \int_{a}^{b} s|u|^{p}\left|u^{\prime}\right| & d x+p \int_{a}^{b} \frac{s(x)}{(x-a)^{p+1}}  \tag{8}\\
& \times\left\{\frac{p+1}{s(x)} \int_{a}^{x} s|u|^{p}\left|u^{\prime}\right| d t-|u(x)|^{p+1}\right\} d x \leq \int_{a}^{b} s\left|u^{\prime}\right|^{p+1} d x .
\end{align*}
$$

The well-known inequality of Z . Opial had led to numerous articles (see, e.g. [3]-[10], [12]-[21] and [24]-[27]). The object of this paper is to give a generalization of Theorem D-1, Theorem D-2, Theorem E, Theorem F and Theorem G in Section 3.

We also note that, in [25], Shum had combined Benson's method ([6]) with that of Bessack's ([2]-[5]) to get some inequalities, which also gave a further generalization of Opial's inequality.

## 2. Preliminary lemmas

Lemma 1. Let $l(t)$ be positive on $a \leq t \leq x$ with $\int_{a}^{x} l^{-a}(t) d t<\infty$. If $u$ is absolutely continuous on $[a, b]$ with $u(a)=0$, and if $s$ is positive and non-increasing
on $[a, b]$, then, for all $a \leq x \leq b, p>-q, q \geq 1$,

$$
\begin{align*}
\mathrm{g}_{3}(x)=\left(\frac{p+q}{q}\right)^{a}( & \left.\int_{a}^{x} l^{-a}(t) d t\right)^{q-1}  \tag{9}\\
& \cdot\left(\int_{a}^{x} l^{q(q-1)}(t)|u(t)|^{p} s(t)^{q}\left|u^{\prime}(t)\right|^{a} d t\right)-|u(x)|^{p+a} s(x)^{a} \geq 0 .
\end{align*}
$$

Equality holds in (9) if and only if $u^{\prime}$ does not change sign on [a,b], $s=$ constant and $u(x)=k\left(\int_{a}^{x} l^{-q}(t) d t\right)^{q /(p+a)}$ with consiant $k$.

Proof. Since

$$
\left(\frac{q}{p+q}\right)|u(x)|^{(p+q) / q}=\left|\int_{a}^{x} u^{p / q} u^{\prime} d t\right| \leq \int_{a}^{x}|u|^{p / q}\left|u^{\prime}\right| d t .
$$

By Hölder's inequality ([12], p. 81; or [22], p. 113). We have

$$
\left(\frac{q}{p+q}\right)|u(x)|^{(p+q) / a} \leq\left(\int_{a}^{x} l(t)^{-q} d t\right)^{(q-1) / q}\left(\int_{a}^{x} l(t)^{q(q-1)}|u(t)|^{p}\left|u^{\prime}(t)\right|^{\mid a} d t\right)^{1 / q}
$$

Now, with the fact that $s$ is positive and non-increasing on $[a, b]$, we obtain

$$
\begin{aligned}
\left(\frac{q}{p+q}\right) s(x)|u(x)|^{(p+q) / q} & \\
& \leq\left(\int_{a}^{x} l(t)^{-q} d t\right)^{(q-1) / a}\left(\int_{a}^{x} l(t)^{q(q-1)} s(t)^{q}|u(t)|^{p}\left|u^{\prime}(t)\right|^{a} d t\right)^{1 / q}
\end{aligned}
$$

that is

$$
\left(\frac{q}{p+q}\right)^{a} s(x)^{a}|u(x)|^{p+a} \leq\left(\int_{a}^{x} l(t)^{-a} d t\right)^{q-1}\left(\int_{a}^{x} l(t)^{q(a-1)} s(t)^{a}|u(t)|^{p}\left|u^{\prime}(t)\right|^{a} d t\right)
$$

which proves our result.
Before giving to second lemma, we first state two elementary algebraic inequalities $[1 ; 11 ; 12 ;$ or 18, p. 30]. If $q>0$, then

$$
\begin{gather*}
q s^{p+a}+p t^{p+a}-(p+q) s^{a} t^{p} \geq 0, \text { for all } p>0 ; \text { or } p<-q .  \tag{10}\\
q s^{p+q}+p t^{p+q}-(p+q) s^{a} t^{p} \leq 0, \text { for all }-q<p<0 . \tag{11}
\end{gather*}
$$

Here, $s$ and $t$ are nonnegative (positive if $p<-q$ ), and in both cases strict inequality holds unless $s=t$. (We also note that when $p=0$ or $p=-q$, the left sides of both (10) and (11) become identically zero for all $s$ and $t$ ).

Lemma 2. Let $v(x)$ be absolutely continuous on $[\alpha, \beta]$ with $v^{\prime}(x) \geq 0$, a.e. Also, suppose that $Q(x)$ is nonnegative a.e. and measurable on $[\alpha, \beta]$, and $G(v, x)$ is continuously differentiable for $x \in[\alpha, \beta]$ and $v$ in the range of the
function $v(x)$ with $G_{v}(v, x) \geq 0$.* (or $G_{v}(v, x)>0$ in case $\left.p<0\right)$, then, if the integrals exist and $q>0$, we have

$$
\begin{align*}
& \int_{\alpha}^{\beta}\left[q\left(v^{\prime}\right)^{(p+q) / q} Q+p\left(G_{v}\right)^{(p+q) / p} Q^{-q / p}+(p+q) G_{x}\right] d x  \tag{12}\\
& \quad \geq(p+q)\{G(v(\beta), \beta)-G(v(\alpha), \alpha)\}, \quad(p>0 ; \quad \text { or } \quad p<-q)
\end{align*}
$$

$$
\begin{align*}
\int_{\alpha}^{\beta}\left[q\left(v^{\prime}\right)^{(p+q) / q} Q+p\left(G_{v}\right)^{(p+q) / p} Q^{-q / p}+(p+q) G_{x}\right] d x &  \tag{13}\\
& \leq(p+q)\{G(v(\beta), \beta)-G(v(\alpha), \alpha)\}, \quad(-q<p<0)
\end{align*}
$$

where

$$
G_{v}=\frac{\partial}{\partial v}(G(v, x)), \quad G_{x}=\frac{\partial}{\partial x}(G(v, x)) .
$$

Equality in both (12) and (13) holds if and only if the differential equation

$$
\begin{equation*}
v^{\prime}=\left(G_{v} / Q\right)^{q / p} \tag{14}
\end{equation*}
$$

is satisfied almost everywhere.
Proof. By taking $s=\left(v^{\prime}\right)^{1 / q} Q^{1 /(p+q)}, t=\left(G_{v}\right)^{1 / p} Q^{-q /[p(p+q)]}$ in (10), we have almost everywhere,

$$
q\left(v^{\prime}\right)^{(p+q) / q} Q+p\left(G_{v}\right)^{(p+q) / p} Q^{-q / p} \geq(p+q) v^{\prime} G_{v}
$$

This implies that

$$
q\left(v^{\prime}\right)^{(p+q) / q} Q+p\left(G_{v}\right)^{(p+q) / p} Q^{-q / p}+(p+q) G_{x} \geq(p+q)\left(\frac{d}{d x}(G(v, x))\right)
$$

Which proves (12) by integrating both sides of the above inequality from $\alpha$ to $\beta$.

The proof of (13) follows from the above argument, by using (11) instead of (10).

The proof of (14) follows at once from the fact that $s=t$.

## 3. Main results.

Theorem 1-1. Let $l(x)$ be positive on $a \leq x \leq X$ with $\int_{a}^{X} l(x)^{-a} d x<\infty$, and let $s(x)$ be positive and nonincreasing on $a \leq x \leq X ; u(x)$ be any function which is absolutely continuous on $a \leq x \leq X$ with $u(a)=0$. Then, for all $p \geq 0, q \geq 1$.

$$
\begin{equation*}
(p+q) \int_{a}^{X} l^{q(q-1)} s^{q}|u|^{p}\left|u^{\prime}\right|^{q} d x \leq q\left(\int_{a}^{X} l^{-q} d x\right)^{p}\left(\int_{a}^{X} l^{q(p+q-1)} s^{q}\left|u^{\prime}\right|^{p+q} d x\right) . \tag{15}
\end{equation*}
$$

[^0]There is equality if and only if $u^{\prime}$ does not change sign on $[a, X]$, s is a positive constant function, $q=1$ and $u(x)=A \int_{a}^{x} l(t)^{-a} d t$ with constant $A$.

Proof. Define $z(x)=\int_{a}^{x} l(t)^{a(a-1)} s(t)^{q^{2} /(p+a)}\left|u^{\prime}(t)\right|^{a} d t, a \leq x \leq X$, then $z^{\prime}(x)=$ $l(x)^{q(q-1)} s(x)^{q^{2} /(p+q)}\left|u^{\prime}(x)\right|^{q}$. Since

$$
|u(x)| \leq\left(\int_{a}^{x} l(t)^{-a} d t\right)^{(q-1) / a}\left(\int_{a}^{x} l(t)^{q(q-1)}\left|u^{\prime}(t)\right|^{a} d t\right)^{1 / a}
$$

and $s(x)$ is positive and non-increasing on $a \leq x \leq X$, we have

$$
s(x)^{(p \cdot q) /(p+q)}|u(x)|^{p} \leq\left(\int_{a}^{X} l(x)^{-a} d x\right)^{[p(q-1)] / q} z^{p / q}, \quad a \leq x \leq X .
$$

This implies that

$$
\begin{aligned}
(p+q) & \int_{a}^{X} l^{q(q-1)} s^{q}|u|^{p}\left|u^{\prime}\right|^{q} d x \\
& \leq(p+q)\left(\int_{a}^{X} l^{-q} d x\right)^{[p(q-1)] / a} \int_{a}^{X} z^{p / a} z^{\prime} d x \\
& =q\left(\int_{a}^{X} l^{-q} d x\right)^{[p(q-1)] / a} z(X)^{(p+q) / q} \\
& =q\left(\int_{a}^{X} l^{-q} d x\right)^{[p(q-1)] / a}\left(\left.\int_{a}^{X} l^{q(q-1)} s^{a^{2} /(p+a)}\left|u^{\prime}\right|\right|^{q} d x\right)^{(p+q) / q} .
\end{aligned}
$$

By Hölder's inequality, the result (15) follows immediately.
We note that (4), (Theorem D-1), is a special case of (15), by taking $p=q=1$. We also note that Theorem 1-1 give an extension of Beesack's Theorem ([3]).

Theorem 1-2. Let $l(x)$ be positive on $X \leq x \leq b$ with $\int_{X}^{b} l(x)^{-a} d x<\infty$, and let $s(x)$ be positive and non-decreasing on $X \leq x \leq b ; u(x)$ be any function which is absolutely continuous on $X \leq x \leq b$ with $u(b)=0$. Then, for all $p \geq 0, q \geq 1$.

$$
\begin{align*}
& (p+q) \int_{X}^{b} l(x)^{q(q-1)} s(x)^{a}|u(x)|^{p}\left|u^{\prime}(x)\right|^{a} d x  \tag{16}\\
& \quad \leq q\left(\int_{X}^{b} l(x)^{-a} d x\right)^{p}\left(\int_{X}^{b} l(x)^{a(p+a-1)} s(x)^{a}\left|u^{\prime}(x)\right|^{p+a} d x\right) .
\end{align*}
$$

There is equality if and only if $u^{\prime}$ does not change sign on $[X, b]$, $s$ is a positive constant function, $q=1$ and $u(x)=B \int_{x}^{b} l(t)^{-a} d t$ with constant $B$.

Proof. Define $z(x)=-\int_{x}^{b} l(t)^{q(a-1)} s(t)^{q^{2} /(p+q)}\left|u^{\prime}(t)\right|^{a} d t, \quad X \leq x \leq b, \quad$ then $z^{\prime}(x)=l(x)^{q(q-1)} s(x)^{q^{2} /(p+a)}\left|u^{\prime}(x)\right|^{a}$, for all $X \leq x \leq b$. Since

$$
|u(x)| \leq\left(\int_{x}^{b} l(t)^{-a} d t\right)^{(a-1) / a}\left(\int_{x}^{b} l(t)^{a(q-1)}\left|u^{\prime}\right|^{a} d t\right)^{1 / a}
$$

and $s(x)$ is positive and non-decreasing on $X \leq x \leq b$; we have

$$
s(x)^{p q /(p+q)}|u(x)|^{p} \leq\left(\int_{X}^{b} l(x)^{-q} d x\right)^{[p(q-1)] / q}(-z(x))^{p / q}, \quad X \leq x \leq b .
$$

This implies that

$$
\begin{aligned}
(p+q) & \int_{X}^{b} l(x)^{q(q-1)} s(x)^{a}|u(x)|^{p}\left|u^{\prime}(x)\right|^{a} d x \\
& \leq(p+q)\left(\int_{X}^{b} l(x)^{-a} d x\right)^{[p(q-1)] / a}\left(\int_{X}^{b}(-z)^{p / a} z^{\prime} d x\right) \\
& =q\left(\int_{X}^{b} l^{-q} d x\right)^{[p(q-1)] / a}\left(\int_{X}^{b} l^{q(q-1)} s^{q^{2} /(p+q)}\left|u^{\prime}\right|^{a} d t\right)^{(p+q) / q} .
\end{aligned}
$$

By Hölder's inequality, we get (16) immediately.
We note that (5), (Theorem D-2), is a special case of (16), by taking $p=q=1$. We also note that Theorem 1-2 gives a generalization of Beesack's Theorem ([3]).

Theorem 2. Let $l(x)$ be positive on $a \leq x \leq b$ with $\int_{a}^{b} l(x)^{-a} d x<\infty$. Let $K=$ $\left(\int_{X}^{b} l(x)^{-a} d x\right)^{p}=\left(\int_{a}^{X} l(x)^{-a} d t\right)^{p}$ for some $X \in[a, b]$. If $u$ is an absolutely continuous function on $[a, b]$ with $u(a)=u(b)=0$, and if $s(x)$ is a positive and nonincreasing on $[a, X]$ and nondecreasing on $[X, b]$, then, for all $p \geq 0, q \geq 1$,

$$
\begin{equation*}
(p+q) \int_{a}^{b} l^{q(q-1)} s^{q}|u|^{p}\left|u^{\prime}\right|^{q} d x \leq q K \int_{a}^{b} l^{q(p+q-1)} s^{q}\left|u^{\prime}\right|^{p+q} d x . \tag{17}
\end{equation*}
$$

Equality holds in (17) if and only if $u^{\prime}$ does not change sign on $[a, X]$ and on $[X, b]$, respectively, $s$ is a positive constant function, $q=1$ and $u=A \int_{a}^{x} l(t)^{-q} d t$ if $x \in[a, X]$, and $u=B \int_{x}^{b} l(t)^{-a} d t$ if $x \in[X, b]$. A, B being a constant.

Proof. If we take $X \in[a, b]$ such that $K=\left(\int_{x}^{b} l^{-a} d x\right)^{p}=\left(\int_{a}^{x} l^{-a} d x\right)^{p}$ in (15) and (16) of Theorem 1-1 and Theorem 1-2, respectively, (17) follows immediately.

We note that (6), (Theorem E ) is a special case of (17), by taking $X=$ $(a+b) / 2, p \geq 1, q \geq 1$, and $s$ and $l$ be a positive constant function.

Theorem 3. Let $l(x)$ be positive on $a \leqslant x \leqslant b$ with $\int_{a}^{b} l(x)^{-a} d x<\infty$. If $u$ is an absolutely continuous function on $[a, b]$ with $u(a)=0$, and if $s(x)$ is a positive and non-increasing on $[a, b]$, and $\int_{a}^{b} l^{a(p+a-1)} s^{q}\left|u^{\prime}\right|^{p+a} d t<\infty$, then, for all $p>0$, $q \geq 1$,

$$
\begin{align*}
& q^{1-p}(p+q)^{[(p+q)(q-1)] / a} \int_{a}^{b} l^{q(p+q-1)} s^{q}\left|u^{\prime}\right|^{p+q} d x \\
& \quad \geq \frac{(p+q)^{q}}{\left(\int_{a}^{b} l^{-q} d x\right)^{p}} \int_{a}^{b} l^{q(q-1)} s^{q}|u|^{p}\left|u^{\prime}\right|^{q} d x+p q^{q} \int_{a}^{b} \frac{l(x)^{-q} \mathrm{~g}_{3}(x)}{\left(\int_{a}^{x} l^{-q} d t\right)^{p+q}} d x . \tag{18}
\end{align*}
$$

where $\mathrm{g}_{3}(x)$ is defined in (9) (Lemma 1). If $-q<p<0, q \geq 1$, and $\int_{a}^{b} l^{q(a-1)} s^{q}|u|^{p}\left|u^{\prime}\right|^{a} d x<\infty$, the reverse inequality holds.

For $p>0$, equality holds in (18) if and only if $s=$ constant, $u(x)=$ $c\left(\int_{a}^{x} l^{-q} d t\right)^{q /(p+q)^{(\alpha-1) / a}}$ for some constant $c$; for $-q<p<0$, equality holds if and only if $s=$ constant, $u(x)=c\left(\int_{a}^{x} l^{-a} d t\right)^{q /(p+q)^{(a-1) / a}}$ for some constant $c \neq 0$.

Proof. By (15), Theorem 1-1, we have, for $p>0, q \geq 1$,

$$
\begin{equation*}
\left.\int_{a}^{b} l^{q(q-1)} s^{q}|u|^{p}\left|u^{\prime}\right|^{a} d x \leq \frac{q\left(\int_{a}^{b} l^{-a} d x\right)^{p}}{p+q} \int_{a}^{b} l^{q(p+q-1)} \right\rvert\, u^{\prime p+a} s^{q} d x<\infty . \tag{19}
\end{equation*}
$$

Now, from (19) with $b$ replaced by $x$, it follows that

$$
\begin{equation*}
\lim _{x \rightarrow a^{+}} \frac{p+q}{\left(\int_{a}^{x} l^{-q} d t\right)^{p}} \int_{a}^{x} l^{q(q-1)} s^{a}|u|^{p}\left|u^{\prime}\right|^{q} d t=0, \quad(p>0, q \geq 1) \tag{20}
\end{equation*}
$$

Now, let $v(x)=\left.\int_{a}^{x}\left|q^{(q-1)} s^{q}\right| u\right|^{p}\left|u^{\prime}\right|^{q} d t, Q^{-1}=|u|^{[p(p+q)] / a} s^{p}(p+q)^{-[p(q-1)] / a} q^{p} l^{-p}$, and $G=v\left(\int_{a}^{x} l^{-q} d t\right)^{-p}$. Then from (12) with $[\alpha, \beta]$ replaced by $[\alpha, b]$, we obtain, for $p>0, q \geq 1$, and $a<\alpha<b$,

$$
\begin{align*}
& q^{1-p}(p+q)^{[p(q-1)] / q} \int_{\alpha}^{b} l^{q(p+q-1)} s^{q}\left|u^{\prime}\right|^{p+a} d x \\
& \quad+\frac{p+q}{\left(\int_{a}^{\alpha} l^{-a} d x\right)^{p}} \int_{a}^{\alpha} l^{q(a-1)} s^{a}|u|^{p}\left|u^{\prime}\right|^{a} d x  \tag{21}\\
& \geq \frac{p+q}{\left(\int_{a}^{b} l^{-q} d x\right)^{p}} \int_{a}^{b} l^{q(a-1)} s^{q}|u|^{p}\left|u^{\prime}\right|^{a} d x+\frac{p q^{a}}{(p+q)^{q-1}} \int_{\alpha}^{b} \frac{l(x)^{-a} g_{3}(x)}{\left(\int_{a}^{x} l^{-a} d t\right)^{p+q}} d x .
\end{align*}
$$

Now, on taking limits as $\alpha \rightarrow a^{+}$on both sides of the above inequality, one obtains (18) by using (20). On noting that $g_{3}(x)$ is nonnegative by Lemma 1 , so that both integrals on the right side of (18) exist (finite).

The proof of the case $-q<p<0$ is essentially the same as above except that of (12) we now use (13).

The proof of the equality condition begins by employing (14) in (21) and are similar to those used in [23, 24].

We note that by taking $q=1$ and $s$ and $l$ be a positive constant function, parts of Theorem F is a special case of Theorem 3. We also note that if $q=1$, $p>0$, and $l$ is a positive constant function, we may deduce Theorem G.

Theorem 4. Let $l(x)$ be positive on $a \leq x \leq b$ with $\int_{a}^{b} l^{-a} d x<\infty$. If $u$ is an absolutely continuous function on $[a, b]$ with $u(a)=0$, and if $s$ is a positive and
non-increasing on $[a, b]$, and both $\int_{a}^{b} l^{a(q-1)} s^{a}|u|^{p}\left|u^{\prime}\right|^{a} d x<\infty \quad$ and $\int_{a}^{b} l^{q(p+q-1)} s^{q}\left|u^{\prime}\right|^{p+a} d x<\infty$. Then, for all $p<-q, q \geq 1$.

$$
\begin{align*}
& \int_{a}^{b} q l^{a(p+a-1)} s^{a}\left|u^{\prime}\right|^{p+q} d x \\
& \qquad \frac{(p+q)}{\left(\int_{a}^{b} l^{-q} d t\right)^{p}} \int_{a}^{b} l^{q(q-1)} s^{a}|u|^{p}\left|u^{\prime}\right|^{a} d x+p \int_{a}^{b} \frac{l(x)^{-q} h_{3}(x)}{\left(\int_{a}^{x} l^{-q} d t\right)^{p+q}} d x . \tag{22}
\end{align*}
$$

where

$$
h_{3}(x)=(p+q)\left(\int_{a}^{x} l^{-q} d t\right)^{q-1} \int_{a}^{x} l^{q(q-1)} s^{q}|u|^{p}\left|u^{\prime}\right|^{q} d t-s(x)^{q}|u(x)|^{p+q}(\leq 0) .
$$

The equality condition never holds.
Proof. Let $v(x)=\int_{a}^{x} l^{q(q-1)} s^{q}|u|^{p}\left|u^{\prime}\right|^{q} d t, \quad Q^{-1}=|u|^{[p(p+q)] / a} s^{p} l^{-p}$, and $G=$ $v\left(\int_{a}^{x} l^{-q} d t\right)^{-p}$, then, from (12) with $[\alpha, \beta]$ replaced by $[\alpha, b]$, we obtain

$$
\begin{align*}
& \frac{-(p+q)}{\left(\int_{a}^{\alpha} l^{-a} d x\right)^{p}} \int_{a}^{\alpha} l^{q(q-1)} s^{a}|u|^{p}\left|u^{\prime}\right|^{a} d x+p \int_{\alpha}^{b} \frac{l(x)^{-q} h_{3}(x)}{\left(\int_{a}^{x} l^{-a} d t\right)^{p+a}} d x  \tag{23}\\
& \quad \leq \frac{-(p+q)}{\left(\int_{a}^{b} l^{-q} d x\right)^{p}} \int_{a}^{b} l^{q(q-1)} s^{a}|u|^{p}\left|u^{\prime}\right|^{a} d x+q \int_{\alpha}^{b} l^{q(p+q-1)} s^{q}\left|u^{\prime}\right|^{p+q} d x
\end{align*}
$$

Now, since $p<-q, q \geq 1$, it follows, from the definition of $h_{3}(x)$, that $\mathrm{ph}_{3} \geq 0$, hence both limits on the left side of (23) exist as $\alpha \rightarrow a^{+}$, and the first limit is zero, since $p<0$, which proves the case $p<-q$ without the equality condition. Thus, we get the result (22).

Now, by combining Theorem 3 and Theorem 4, we may deduce Theorem F on setting $q=1$, and $s$ and $l$ be a positive constant function on $[a, b]$.

## References

[^1]8. D. W. Boyd, Best constants in inequalities related to Opial's inequality, J. Math. Anal. Appl. 25 (1969), 378-387.
9. J. Calvert, Some generalizations of Opial's inequality, Proc. Amer. Math. Soc. 18 (1967), 72-75.

10 K. M. Das, An inequality similar to Opial's inequality, Proc. Amer. Math. Soc. 22 (1969), 258-261.
11. A. M. Fink and Max, Jodict, JR., A generalization of the Arithmetic-Geometric Mean's Inequality. Proc. Amer. Math. Soc. vol. 61 Number 2. 12. 1976.
12. G. H. Hardy, J. E. Littlewood and G. Polya, Inequalities, 2nd. ed. Cambridge Univ. Press. N.Y. 1952.

13 L. K. Hua, On an inequality of Opial, Sci. Sinica 14 (1965), 789-790.
14. C.-M. Lee, On a discrete analogue of inequalities of Opial and Yang. Canad. Math. Bull. 11 (1968), 73-77
15. N. Levinson, On an inequality of Opial and Beesack, Proc. Amer. Math. Soc. 15 (1964), 565-566.
16. C. L. Mallows, An even simpler proof of Opial's inequality, Proc. Amer. Math. Soc. 16 (1965), 173.
17. P. M. Maroni, Sur l'inégalité d'Opial-Beesack, C. R. Acad. Sci. Paris Sér. A264 (1967), A62-A64.
18. D. S. Mitrinovié and P. M. Vasić, Analytic inequalities, Die, Grandlehren der Math. Wissenschaften, Band 165 Springer-Verlag, Berlin, 1970.
19. C. Olech, A simple proof of a certain result of Z. Opial, Ann. Polon, Math. 8 (1960), 61-63.

20 Z. Opial, Sur une inégalité, Ann. Polon, Math. 8 (1960), 29-32.
21. R. N. Pederson, On an inequality of Opial, Beesack and Levinson, Proc. Amer. Math. Soc. 16 (1965), 174.
22. H. L. Roydon, Real Analysis 2nd. the Macmillan Company, N.Y. Collier-Macmillan, Limited, London, 1972.
23. D. T. Shum, On integral inequalities related to Hardy's, Canad. Math. Bull. 14 (1971), 225-270.
24. - A general and sharpened form of Opial's inequality, Canad. Math. Bull. vol. 17 (3), (1974), 385-389.
25. -_, On a class of new inequalities, Trans. Amer. Math. Soc. vol. 204 (1975), 299-341.
26. J. S. W. Wong, A discrete analogue of Opial's inequality, Canad. Math. Bull. 10 (1967), 115-118.
27. G. S. Yang, On a certain result of Z. Opial, Proc. Japan Acad. 42 (1966), 78-83.

Department of Mathematics
Evening School
Tamkang College of Arts and Science
5, Lane 199, King-Hwa Street,
Taipei, Taiwan (106),
Republic of China


[^0]:    * (We note that in case $p+q=2 n$ with $n$ a positive integer, the restriction $v^{\prime}(x) \geq 0$, a.e. and $G_{v}(v, x) \geq 0$ may be removed).

[^1]:    1. E. F. Beckenbach and R. Bellman. Inequalities, 2nd rev. ed; Ergebnisse der mathematik and ihrer Grenzgebiete, Heft 30 Springer-Verlag. N.Y. 1965.
    2. P. R. Beesack, Hardy's inequality and its extensions, Pacific J. Math, 11 (1961), 39-62.
    3. --, On an integral inequality of Z. Opial, Trans. Amer. Math. Soc. 104 (1962), 470-475.
    4. -, Integral inequality involving a function and its derivative, Amer. Math. Monthly 78 (1971), 705-741.
    5. P. R. Beesack and K. M. Das, Extensions of Opial's inequality, Pacific J. Math. 26 (1968), 215-232.
    6. D. C. Benson, Inequalities involving integrals of functions and their derivatives, J. Math. Anal. Appl. 17 (1967), 292-308.
    7. D. W. Boyd and J. S. Wong, An extension of Opial's inequality, J. Math. Anal. Appl. 19 (1967), 100-102.
